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BT HEHE) |8 = 5 | BT % HEH () |8 5 BT HEHE) |8 = g
FiF SR BT 178 211 218 429 1K E BT 0 0 0 0 ®TE—TH 548 684 761 1445
B —TE 187 184 190 374 IKEBT—TE 328 433 444 877 ®TE=TH 148 191 208 399
FFRET=TH 219 249 250 499 IREET—TH 520 661 758 1419 FHUEH 1 2 2 4
FRET=TH 263 288 341 629 IREET=TH 972 1184 1301 2485 HPHEHE—TH 0 0 0 0
BT T B 705 811 898 1709 MRERTET B 305 385 397 782 HPHEF_TH 2 2 0 2
FHFERTH 1075 1370 1519 2889 KERTETH 1208 1440 1527 2967 HPHEF=TE 0 0 0 0
FFHBIRT B 1031 1333 1438 2771 EEAT 2843 4084 4061 8145 HPAHEFMT B 0 0 0 0
FFHETETE 436 494 565 1059 WSEH—TE 350 533 563 1096 EK]IIE 143 191 241 432
FFhET/\TE 195 168 189 357 WSAZEHF_TE 468 689 707 1396 7 EXH] 190 255 311 566
IEFB—TH 238 238 283 521 WAEB=TH 1443 2082 2212 4294 A FHT 300 418 441 859
EFET=TH 936 1057 1152 2209 WSEHMETE 759 1125 1222 2347 & AHET 331 461 486 947
3/ OfT 227 312 307 619 WSEHAETE 425 607 661 1268 A E FET 182 232 274 506
FOSET 0 0 0 0 = 5 BT 377 514 579 1093 TH/RAT—U—TH 0 0 0 0
MRE—TH 466 564 592 1156 EFET 210 285 300 585 TO/AT—ZTEH 0 0 0 0
MRET=TH 1403 1738 1932 3670 #h{ERT 279 382 408 790 TO/AT—=TH 1 1 0 1
HMSE=THE 342 443 476 919 = FAET 479 672 716 1388 HEFFET 236 358 375 733
MSHETET B 439 591 592 1183 F0 H AT 505 694 726 1420 /N7 R BT 216 334 338 672
/NEHET 623 960 960 1920 R ERT 221 305 301 606 T=H 198 263 319 582
NEHET—TH 110 130 135 265 ;A BT 471 695 677 1372 {1 3ifi BT 310 464 453 917
INABT=TH 667 937 938 1875 S HT 788 1151 1134 2285 EELLET 9 8 7 15
NEHET=TH 147 202 213 415 ERHE 132 185 200 385 Jt H P BT 174 221 272 493
FAET 532 517 691 1208 DNEHHE —TH 657 938 971 1909 [if] BT 80 122 121 243
BT 0 0 0 0 DEZHH_TH 615 896 894 1790 JLSRET 84 139 138 277
FMEI—TE 202 250 253 503 DNEHH=TH 422 535 548 1083 = FRT 121 172 167 339
ETula= 267 376 408 784 FEL 0 0 0 0 12 3R] 275 426 447 873
S 12T 1 1 1 2 HEA—TH 384 471 531 1002 A A1 BT 113 159 180 339
S1ERI—TH 319 453 452 905 FEAZTH 569 786 829 1615 A SRHET 215 293 344 637
SEE=TH 444 518 612 1130 FEA=TH 562 659 740 1399 R EFET 164 206 224 430
5 FE 610 822 848 1670 KBEE—TH 766 1042 1083 2125 L F BT 4 7 3 10
= ERET 269 335 369 704 HEAEZTH 1072 1414 1501 2915 =—TH 309 230 275 505
R E] 259 357 357 714 KXEAE=TE 1168 1370 1500 2870 =_TH 606 491 614 1105
— S e RT 176 230 238 468 [TONE—TE 242 418 418 836 E=TH 528 497 596 1093
Bz 7 BT 835 1101 1207 2308 EoAH_TH 915 1445 1497 2942 F=10] 56 73 88 161
LI BT 521 638 660 1298 IEOAEF=TE 289 455 478 933 EFET 113 127 159 286
YRAERT—T B 263 290 318 608 HT=E—TH 263 433 438 871 EHE—TE 228 261 282 543
FRAERTZTH 568 697 771 1468 HTERZTH 318 536 523 1059 EHEIZTE 160 176 198 374
FRAERT=TH 146 185 214 399 A EHHT 0 0 0 0 AHT 804 887 978 1865
FRAERTIT B 126 189 188 377 ANHE—TE 255 315 339 654 = FAET 125 183 155 338
EEH 215 318 269 587 ANHEEIZTE 299 408 420 828 EME—TH 447 540 568 1108
ZER—TH 377 462 506 968 NHEHEI=TH 340 497 493 990 EME=THE 472 504 503 1007
EEB_TE 299 373 410 783 ANHETETE 187 299 314 613 EME=TE 455 447 525 972
EEW=TH 619 700 781 1481 & EIET 3 5 1 6 EHT 1636 2034 2207 4241
ZERMTH 56 65 79 144 EEHE—TH 667 905 936 1841 =D 1139 1333 1280 2613
{BAET 530 518 70 588 EEE=TH 666 786 798 1584 L RHET 1066 1445 1423 2868
BXEI—TH 684 749 828 1577 EER=TH 378 555 557 1112 T FH 563 797 783 1580
BXET=TH 1063 1066 1254 2320 EERMTH 321 313 372 685 TFHI—TH 149 152 172 324
BAEI=TE 417 564 578 1142 |HEE—TH 281 333 334 667 FFEIZTE 301 336 352 688
BAETMTE 834 1003 1027 2030 BEE_—TH 261 405 394 799 TFEI=TH 335 409 413 822
BAETRTE 590 634 703 1337 |ERE=TH 160 230 227 457 /NEFET 67 92 101 193
BAEIARTE 368 376 419 795 | EEETH 174 199 220 419 BEILE—TH 543 682 762 1444
354 373 320 693 BEEETH 293 394 368 762 BLE=TH 1784 1661 1700 3361
= 266 229 204 433 EREINTH 216 287 300 587 BILE=TH 1754 2025 2157 4182
= 453 508 497 1005 FHET 260 209 284 493 ELEMTH 355 412 490 902
= 434 494 539 1033 FHE—TH 227 229 270 499
st EETPHT B 248 331 323 654 FHEIZTH 183 247 278 525 & & 70892] 89749  94585] 184334
S THET 2453 3307 3388 6695 FHET=TH 135 183 207 390 NEAZHE 907 922 1118 2040
R AET 318 442 465 907 #ByrE—TH 218 292 300 592 #w a8 F 71799] 90671 95703] 186374




